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Directions : Answer the following questions by
selecting the correct option.

1

5

Scientific observation is different from
common sense because

(A) it is systematic
(B) itis objective
(C) itis precise
(D) Allof the above

The work of A. Comte stems from the writing
of

(A) Emile Durkheim
(B) Saint Simon

(C) Hobbes

(D) Hegel

Society cannot be studied in the same way as
the natural world because

(A) human behaviour is meaningful and

varies between individuals and cultures

(B). sociologists are not rational or critical
enough

(C) sociologists cannot collect empirical
data

(D) None of the above

Who among the followings was an
enlightenment philosopher?

(A)
(B)
(C)
(D)

Charles Montesquieu
Jean Jacques Rousseau
Thomas Hobbes

All of them

The sociological perspective that looks for
patterns of changes and development
appearing in different societies is called

(A)
(B)
(C)
(D)

interactionist perspective
functionalist perspective
evolutionary perspective

conflict perspective
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Social Construction of Reality is written by
A)
(B)
(C)
(D)

Berger and Luckmann
Weber
Marx

Durkheim

Herbert Blumer's ideas come under
(A)
(B)
(C)
(D)

conflict perspective of sociology
interactionist perspective of sociology
functionalist perspective of sociology

None of the above

An institution can be described as a complex
of

(A)
(B)
(©€)
(D)

authority
status
roles

procedures

A group of people organized deliberately for the
achievement of a particular interest or group
of interests in common, is known as

(A)
(B)
(C)
(D)

Community
Society
Association

Institution

Indicate the incorrect statement.
(A)

(B)
()

Community is smaller than society
- Association may have legal status

Membership of an association is
voluntary

(D) Institution is a group of organized people

' Culture cannot be transmitted through

(A) language
(B) genes
(C) imitation

(D) Allofthe above
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©

Mechanical and utilitarian objects are parts of
(A) material culture

(B)
(©)

non-material culture
Both of the above
(D) None of the above

A section of a national culture is called
(A) Counterculture

(B) Sub-culture

Cultural shock

(D) Cultural lag

When an individual perceives some

incompatibitily between the role-requirements
of two or more roles, it is called

(A) Role set

(B) Social role

(C) Role conflict
(D) Role behaviour

Cultural lag is the difference between
(A) material and non-material culture
(B) two material cultures

(C) two non-material cultures
(D) None of the above

Any social position held by an individual as a
result of his / her personal accomplishment is
called

(A) Status set
(B) Achieved status
(C) Ascribed status

(D) None of the above
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‘The stripping away of learned pattern and
substitution of new ones for them’ denotes

(A) primary socialization

(B)
(©)

anticipatory socialization
developmental socialization
(D) re-socialization

Women'’s learning of domestic roles is a part
of

(A) gender socialization

(B) adult socialization

(C) caste socialization

(D) religious socialization
In oral stage of socialization the child

(A) merges his identity with that of the

mother

identifies himself with his ascribed social
role

(B)

(C) tries to become a free man

(D) Allofthe above

Period of adolescence comes under
(A) first stage of socialization

(B) second stage of socialization
(C)
(D)

‘Any kind of group which is socially identified
as different and has developed its own

third stage of socialization

fourth stage of socialization

“subculture’, is known as

A)
(B)

(C) Counterculture

Race

Ethnic group

(D) None of the above
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22.

23.

24.

25,

26.

5

The notion that ‘boys never cry’ is an example
of

(A) gender discrimination

(B) sexualdifference

(C) gender stereotyping
(D) None of the above

Non-conformity to a given set of norms that
are accepted by a significant number of people
in society denotes

(A) Deviance
(B) Normiessness
(C) Valuelessness
(D) Difference

Social Conformity can be achieved through
(A) proper socialization
(B) social control
(C) Both ofthe above
(D) None of the above

Social change can be facilitated by
(A)  Urbanization
(B) Industrialization
(C) Modernization

(D) Allof the above

Evolutionary social change is
(A) gradual
(B) radical
(C) rapid

(D) sudden

(6)
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(A)

Marxian theory of social change comes under
A)
=)
(C)

functional theory
conflict theory
cultural theory
(D) None of the above

Which of the following implies a value
judgement about folkways?

A)
(B)
(©)

Sanction
Custom
Tradition
(D) Mores

Indicate the incorrect statement.
(A) Social control brings about solidarity
Law is a formal means of social control

(B)

(C) Formal means of control are purposively

created

(D)

Primary groups are mostly controlled by
formal means

Agency that helps in formation of public opinion

press

social media
. movies
(D) Allofthe above

Gender stratification in patriarchal society
prioritises
male
(B) female
(C) children

(D) None of the above
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Which of the following is a common form of
stratification in contemporary society?

(A) Slavery
(B) Estate
(C) Class

(D) Allofthe above

Indicate the correct statement.
(A) Casteis more closed system than class
(B) Classis more closed system than caste
(C) Mobility is easier in closed system
(D) Allofthe above

Sanskritization is a process of

(A)
(B)

(C)

social mobility
social development
social progress

(D) social stability

‘Stratification is necessary for the efficient
allocation of talents to occupation’ is believed
by
(A) functionalists

(B)
(C)

conflict theorists
Marxist theorists
(D) None of the above

Castes engaged in polluting occupations were
considered as

(A) Brahmins
(B)

C)

Upper Castes
Untouchables

(D) Rajputs
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A)

Who are called ‘Dwija’ ?
(A) Washermen

(B)
(C)

Vaisyas
Brahmins
(D) Sudras

The factor that leads to change in caste system
is

(A)
=)
(C)

enactment of several laws
spread of education
socio-religious reform

(D) Allofthe above

in caste system ‘a touch of a lower caste man
would pollute or defile a man of’

(A) lower caste
(B) same caste
(C) higher caste
(D) None of the above

Which of the following does not represent
ascribed status?

A Scientist
A Brahmin
.A Buddhist
(D) AWoman

Which of the following forms of stratification
system is believed to have a divine origin ?

Slavery
(B) Estate
(C) Caste

(D) Class _
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42. Indicate the incorrect statement.

43.

44,

45.

46.
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Class system is endogamous
Caste system is endogamous
Caste is an ascribed status

Class is an open system

The concept of ‘primary group’ is a significant 43

contribution of

(A)
(B)
(€)

(D)

C.H. Cooley
G.H. Mead
G. Simmel

V. Pareto

42,

W.G. Sumner’s classification of ‘in-group’ and
‘out-group’ can be found in the book

(A) Mores

(B) Customs

Norms

Folkways

Example of voluntary group is
(A) family

(B) caste

community

(D) political party

In Buddhism salvation is known as
(A) Mukti

(B) Nirvana

Karma

Yoga
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Which of the following statements is incorrect?

(A) Secondary groups are relatively larger
than primary groups

(B) Primary groups are characterized by
closed and intimate relation

(C) Primary groups are comparatively

unstable than secondary groups

Informal means of control is less effective
within secondary groups.

(D)
The notions of ‘sacred’ and ‘profane’ are central
to

(A) Comte’s theory

(B) Durkheim’s theory

(C) Spencer’s theory

(D) Marxian theory

In Comte’s Theory of Progress, the second
stage is

(A) Positive stage

(B) Theological stage

(C) Metaphysical stage
(D) None of the above

Any kind of knowledge reaches the positive
stage early in proportion to its

(A) generality
(B) .simplicity
(€)
(D)

independence of other departments
All of the above

Methodological emphasis on observation,
experimentation and comparison is a feature
of

(A) idealtype
(B) positivism
(C) organicism

(D) None of the above
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For Durkheim, a society having mechanical
solidarity is characterized by

(A) weak collective conscience
(B) strong collective conscience
(C) restitutive law
(D) None of the above

The book First Principles was written by
(A) A.Comte

(B) E. Durkheim

(C) H. Spencer
(D) M. Weber

Durkheim’s theory of suicide emphasizes on
(A) psychological factors of suicide

(B) genetic factors of suicide

social factors of suicide

(D)

geographical factors of suicide

In terms of dignity and power sacred things
are considered

(A) inferiorthan profane
(B) superior than profane
(C) Both ofthe above

(D) None of the above

According to Spencer the ‘great civilized
nations’ are

(A) simple societies
(B) compound societies
doubly compound societies

trebly compound societies
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(A)

For Durkheim, when women throw themselves
at the funeral pyre of their husbands it can be
called

Egoistic suicide

Altruistic suicide

Anomic suicide

(D)

Central theme of Durkheimian sociology is

Psychological suicide

primacy of society over individual
“priority of the whole over the part

Both of the above

None of the above

In Spencer’s theory of evolution military society
develops

(A) prior to the industrial society
(B)
(C)

(D)

after industrial society
together with industrial society
None of the above

Which of the following is not a basic law of
evolution for Spencer?

(A)
(B)
(C)
(D)

For Marx the general process of social, political
and spiritual processes of life is determined

by

Law of persistence of force
Law of indestructibility of matter
Law of continuity of motion

Law of equivalent rhythm

mode of production in material life
(B) nature of God in spiritual life
(€)

(D)

nature of social complexity

All of the above
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In Marxian thought ‘have nots’ denote
(A) capitalist

(B)
()

bourgeoisie
proletariat
(D) owner of the means of production

‘Estrangement of individuals from one another
or from a specific situation or process’ is called

(A)  Anomy

(B) Division of Labour
(©)
(D)

Alienation

Revolution

Marx refers the ‘quantity of value produced by
the worker beyond the necessary labour time’
as

(A) surplus value

(B) capital value

(C) important vaiue
(D) necessary value

Marx believed that the revolution will
(A) strengthen the capitalist society
(B) de_estroy the capitalist society
(C) make small changes in capitalist society
(D) bring dictatorship of the bourgeoisie

‘A class of people who have highest indices in
their branch of activity’, is known as

(A) Bureaucrat
(B) Revolutionaryi
~ Elite

Proletariat
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Pareto termed relatively unchanging and
generally permanent elements as

(A) Derivations
(B) Residues
(C)

(D)

Foxes
Lions

For Pareto the group which is primarily
responsible for change is

(A)
(B)
(C)
(D)

speculator

rentier

Both of the above

None of the above

As per Weberian theory of action when a
player throws a punch at a partner in agame it
is
(A) rational action in relation to value
(B) rational action in relation to goal
(C) affective action

(D) traditional action

Weberian methodology emphasizes on
(A) sympathetic introspection

(B) ' typological analysis
(C) Both ofthe above

(D) None of the above

‘Building block of sociological theory includes

(A) Concepts

(B) Variables
Statements

All of the above
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For Weber ‘the shift from ritualistic and other
worldly orientation to down-to-earth
pragmatism’ is harmonious with the spirit of

(A) feudalism
(B) capitalism
(©)
(D)

hinduism
confucianism

In Weberian terms when custom justifies or
even sanctifies the authority position, itis called

(A) Rationallegal authority
(B) Bureaucratic authority
(€)
(D)

Traditional authority
Charismatic authority

Indicate the incorrect statement about
bureaucracy.

(A) A clear distinction between the sphere
of office and private affairs

(B) Bureaucratic officials must be an owner
of the enterprise

(C) Selection of employment and promotion

is based on competence

(D) The structure of authority is clearly
delineated and strictly delimited by rules.

Microsociology examines

(A) Wider social structures

(B) Interdependent social institutions
(C) Historical processes of social life

(D) Action, interaction and construction of
meaning

The Structure of Social Action is the first book
of

(A) Talcott Parsons
(B) Radcliffe Brown
(C)

(D)

| Max Weber
Robert. K. Merton
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Functionalism is criticized for

(A) exaggerating stability and integration
(B) underplaying conflict and structural strain
(C)
(D)
‘The observed consequences which lessen the

adaptation or adjustment of the system™ are
termed by Merton as

neglecting the individual

All of the above

(A) non-function
(B) dysfunction
(C) latent function

(D) manifest function

‘Society is not a system in equilibrium.’ - This
is an essential postulate of

(A) functionalism
(B) conflict perspective
(C) interaction perspective

(D) Allofthe above

Duhrendorf's conflict theory is exclusively
based on

(A) economic deprivation
(B) .religious difference
(C) relations of authority

(D) gender discrimination

Who among the following considers that conflict

‘may work as a ‘safety valve’ ?

(A) Marx
(B) Dahrendorf
(C) Coser

(D) Collins
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82. ForMead an organism possesses ‘mind’ when

.83,

84.

85.

86.
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it develops the capacity
(A) tounderstand conventional gestures

(B) to employ gestures to take the role of
others

(C) to imaginatively rehearse alternative
lines of action
(D) Allofthe above

Who among the following distinguished
between ‘realistic’ and ‘non-realistic’ conflict?

(A) Coser

(B) Dahrendorf
(C) Marx
(D) None of them

For Mead the impulsive tendencies and
spontaneous behaviour of human infant are
represented in

A T

(B) ‘Me’

(C) Both of the above

(D)

Blumer’s interactionist strategy includes

None of the above

(A) deductive approach
(B) inauctive approach
(C) Both of the above
(D) None of the above

Herbert Blumer’s perspective comes under
(A) Macro sociology

(B) Middle range theory

| Micro sociology

(D) None of the above
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Class and Class Conflict in Industrial Society
is written by

(A) K. Marx

(B) L.A. Coser
(C)
(D) A.Giddens

R. Dahrendorf

Which among the following is not a functional
pre-requisite according to Parsons ?

(A) Adaptation

(B) Goal attainment
()
(D)

The choice between pairs of alternatives
developed by Parsons is known as

Integration

Acceptance

(A) Functional pre-requisite
(B) Pattern variable
Alternative path
All of the above

‘Systematic collection of facts about a defined
social group’ is called

(A) Social fact

(B) Social research

(C) Social survey

(D) | None of the above

Research designed to find out how people feel

or what they think about a particular subject
comes under?

(A) Qualitative research

(B) Quantitative research
(C) Both ofthe above

(D)

None of the above
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In any social research

(A) data collection is done before literature
review

(B) generalization and interpretation is done
before developing the hypothesis

research design is prepared before data
collection

(D) Allofthe above

Which among the following is not included in
the priliminary pages of research report ?

(A) Title

(B) Bibliography
(C)
(D)

Source of selecting research topic can be

Table of contents

Preface

(A) researches conducted by others
(B) experience

(C)
(D) Allof the above

The description, explanation and justification
of research methods are called

(A) Research method
(B) Methodology

(©)
(D)

The Census in India may be called

prevalent theories

Research process

None of the above

(A) Ekploratory research
(B) Descriptive research
(C)
(D)

Research conducted to find out how a criminal
can be rehabilitated is called

Causal research

Experimental research

(A) Descriptive research
(B) Pure research

()
(D)

Applied research

Comparative research
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98.

99.

The quality of a hypothesis includes
(A) specificity

(B) ambiguity

(C) complicacy

(D) Allofthe above

Hypotheses are used for
(A) testing theories

(B) suggesting theories
(©)

facilitating statistical analysis of variables

(D) Allofthe above

100. Tippet's table is a method of

(A)  probability sampling
(B) non-probability sampling
(C) snowball sampling

(D) accidental sampling

101. Sample size has to be based on

(A) size of the population
(B) purpose of the study
(C) nature of the population

(D) Aliofthe above

102. Which of the following sampling processes

15

_offers higher degree of representativeness ?

(A) Accidental sampling
(B) Stratified random sampling
(C) Purposive sampling

(D) Snowball sampling
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103. Which among the following is not a quality of
an observer ?

(A) Adaptability

(B) Flexibility

(C) Biasness

(D) Ability to deal with varied situations
104. Sample size must be smaller in case of

(A) survey studies

(B) questionnaire method

(C) observation method

(D) None of the above

105. In schedule method the answers are recorded
by

(A) the researcher
(B) therespondent
(C) Both ofthe above
(D) None of the above

106. Advantage of questionnaire method does not
include

(A) accessibility to widespread respondents
(B) greater anonymity
(C) no interviewer's bias
(D) None of the above

107. In the interview method when an interviewer is
free to form questions as and when required it
is called

(A) structured interview
(B) group interview
(C) unstructured interview

(D) pannelinterview
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108. In case of study method a case may be
(A) anindividual
(B) aninstitution
(C) anevent
(D) Allof the above

109. Data which have already been collected by
someone else for some other purpose is called

(A) Primary data
(B) Secondary data
(C) Raw data
(D) None of the above

110. In pre-British indian economy
(A) there was complex division of labour
(B) raw materials were mostly imported
(C) production was mostly locally consumed
(D) Allof the above

111. Which among the following is not an example
of new social class during British rule ?

(A) Money lenders
(B) Middlemen
(C) Farmers
(D) All of the above
112. Indian village communities were said to be ‘little
republics having everything that they want
within themselves’
{A) during pre-British period
(B) during British period
(C) after Independence

(D) None of the above
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113. British conquest of india
(A) had abolished feudalism
(B) had abolished capitalism
(C) flourished self sufficient village economy
(D) None of the above
114. Who among the following is not an Indologist?
(A) Louis Dumont
(B) HenryMain
(C) G.S.Ghurye
(D) A.R. Desai
115. ‘A view or understanding from the bottom of
society or the flow of knowledge from below’ is
known as
(A) Subaltern perspective
(B) Historical perspective
(C) Indological perspective
(D) None of the above
116. Annihilation of Caste is written by
(A) AR Desai
(B) B.R.Ambedkar
(C) S.C.Dube
(D) D.P.Mukherjee
117. Who classified families as ‘institutional’ and
‘companionship’ on the basis of behaviour of
the individuals ?
(A) Zimmerman
(B) Burgess and Locke
(C) T N.Madan

(D) Iravati Karve
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118. Which of the following is not a characteristic
of Indian joint family as per Iravati Karve ?

(A) Common residence
(B) Common property
(C) Common family worship
(D) Same occupation of all members
119. Who among the following have conducted
empirical studies on changes in indian family
structure ?
(A) R.K. Mukherjee
(B) Aileen Ross
(C) LP. Desai
(D) Allofthem
120. Example of tertiary kin is
(A) wife
(B) grandfather
(C) mother’s sister
(D) cousin brother
121. Consanguineal kinship is based on
(A) blood
(B) marriage
(C) Both of the above
(D) None of the above
122. The act that has given share to wife and
daughters in man’s property equal to that of
sons and brothers is
(A) Anti Dowry Act
(B) The Hindu Succession Act

(C) Hindu Marriage Act

(D) None of the above
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123. When a Brahmin boy marries a lower caste

girl it is called

(A) Pratiloma

(B) Hypergamy

(C) Hypogamy

(D) None of the above

124. Marriage by capture is known as

(A) Daiva

(B) Asura

(C) Raksasa
(D) Gandharva

125. In case of sororal polygyny

(A) wives are invariably the sisters
(B) wives are not related as sisters
(C) several brothers share the same wife

(D) None of the above

126. In Sanskritization the low castes may take over

the beliefs, rituals, style of life and other cultural
traits of

(A) brahmins
(B) upper castes
(C) local dominant caste

(D) Allofthe above

127. The term ‘Westernization’ was developed by

(A) MN Srinivas
(B) S.C.Dube
(C) A.R. Desai
(D) G.S.Ghurye

128. The condition that leads to modernization is

5

(A) modern education
(B) urbanization and industrialization
(C) ideology based on nationalism

(D) Allofthe above
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129. The lowest tire in the three tire structure of
Panchayati Raj is

(A) ZilaParishad
(B) Gram Sabha
(C) Both of the above
(D) None of the above

130.In Land Reform the basic objective of land
ceiling is to

(A) remove the inequality of land
(B) increase the fertility of land
(C) abolish the intermediaries
(D) Allofthe above
131. The tribe Jarawas can be found in
(A) North-East India
(B
(C) Western India

Central India

S

(D) Andaman and Nicobar Islands
132. Rural society is not characterised by

(A) low density of population

(B) predominance of primary groups

(C) relatively lesser social mobility

(D) emphasis on impersonal relationship
133. Urban society is

(A) heterogeneous

(B) homogeneous

(C) static

(D) None of the above

134. The change in rural society marked by A.R.
Desai includes

(A) transformation from subsistence economy
to market economy

(B) introduction of modern technology

(C) emergence of modern institutions and
associations having linkage with urban
organization

(D) Allofthe above
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Which of the following cannot be a cause of
development of new cities ?

(A) Development in communication
(B) Large turnover of trade and business
(C) Declining population

(D) Improvement in educational and
municipal facilities

High birthrate and declining mortality of a
population leads to

(A) decrease in population

(B) increase in population

(C) stagnant population

(D) None of the above

Population can be controlled through
(A) family planning

(B) migration outside the country or
redistribution of population

(C) Both of the above

(D) None of the above

Poverty leads to

(A)  malnutrition

(B) low standard of living

(C) lack of social and economic mobility
(D) Allofthe above

The scheme of Training Rural Youth for Self
Employment (TRYSEM) was started in

(A) 1969

(B)y 1979

(C) 1989

(D) 1999

‘Each One Teach One’ was the principle of
(A) Rural Functional Literacy Programme
(B). National Literacy Mission

(C) Child education

(D) None of the above
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Introduction of automation can be a cause of
(A) technological unemployment

(B) agricultural unemployment

(C) cyclical unemployment

(D) seasonal unemployment

Values, beliefs, morals and customs are the
elements of

(A) status
(B) culture
(C) roles

(D) community

Which among the following is not a
consequence of casteism ?

(A) It hinders the unity of nation
(B) It hinders population growth
(C) It hinders economic progress

(D) Allof the above

‘Extreme loyalty or love to a particular region
which may undermine the interest of the nation’
is known as

(A) Communalism

(B) Regionalism

(C) Terrorism

(D) Linguism

The state which suffered due to ULFA terrorism

(A) West Bengal
(B) Assam
(C) Kashmir

(D) Punjab

(29)
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146. Corruption can be a cause of
(A) accountability
(B) erosion of social values
(C) adequate legislation

(D) Allofthe above

147. The Child Labour (Prohibition and Regulation)
Act was implemented in the year

(A) 1986
(B) 1956
(C) 1976

(D) None of the above

148. In 1992 the National Commission for Women
was established to

(A) Check incidents of violence against
women

(B) Promote social, legal and economic
equality to women

(C) Both of the above

(D) None of the above

149. International Women'’s Day is celebrated on
(A) 8thMarch
(B) 8thMay
(C) 8thApril
(D) 8thJuly

150. Which of the fossil fuel can cause air pollution?
(A)  Wind
(B) Sunlight
(C} Steam
(D) Coal

146. 74115 (FIGA TomERs =0® A7
(A)  WIRRES!
(B) FNITEE JoCANER S
(C) IS ZH 2l
(D) THEE WRFHZ
147. 7 52 (FIRAIF (2R SIS ([IEI) SiF
TS A A4S =72
(A) 1986
(B) 1956
(C) 1976
(D) TR @ADL 7
148. 1992 T3 ISR 2a1! F 6 BRI 2fsoe
277

(A) TEER afs BemR W g sEE
Celj

(B) WETR A, Wi <) weftafes

(C) TR qbR

(D) ToErE @A =
149, IBEITeT TfeT oy “Aifers =

A b2

B) v

(C) b3 e

(D) YRR
150. (T QTP TN LTI FICS AT 2
(A) oM
B) s
(C) I
(D) =

/5 (30)



n

SPACE FOR ROUGH WORK / TIF (TS &7 Sxell

(31)

[P.T.O.



1.

o

©

10.

1.

12.

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
fafeiire fRomMiRen Srer 33 g ¢

Qut of the four alternatives for each question, only one circle for the correct answer is to be darkened completely with
Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be changed.
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The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer Sheet.
Do not write your Roll Number anywhere else except at the specified space on the OMR Answer Sheet.
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Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except technical defect),
another set of Question Bookiet and OMR Answer Sheet will be provided.
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The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the Attendance Sheet.
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Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
devices or any other material except the Admit Card and Photo Identity Card inside the Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the Invigilator/Examination
Officials.
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No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her seat.
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Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after taking their seats
in the Examination Hall/Room and second at the time of handing over their OMR Answer Sheet to the Invigilator.
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet to the
Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not signed the Attendance

Sheet a second time will be deemed not to have handed over the Answer Sheet and deait with as an unfair means case.
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Use of any type of calculating device is prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the Examination
Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the Board.
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No part of the Question Bookiet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the Hall/Room. The
candidates are allowed to take away the Question Booklet with them.
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